MATH 109  Practice Exam for Chapter 1    with answers
Write your solutions on separate sheets of paper.  Be sure to label each problem.  

Show your work.  Correct conclusions without sufficient work will NOT receive credit.  Calculators are permitted but not necessary.  

If you have a question or want clarification during the exam, please do not hesitate to ask.  

1.   (a) Graph [–3, 2) on a number line.           (b) Evaluate |1-7|-|-6+8|          
       -------[(((((()-------                                     4
             -3            0        2
2.    Perform the given operations.   Simplify.

(a)  (3a +1)(4a – 2) 

          (b)  2x(x + 3) – 3(x2 – 5x + 4) 

               12a2 - 2a – 2                                              -x2 +21x -12

3.    Factor completely.  


 (a)  5y2 + 8y– 4          
        (b)  3n3-12nm2              
                 (5y-2)(y+2)                               3n(n-2m)(n+2m)
4.    Write as a simple fraction in lowest terms.  


(a)   
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5.  Simplify.  Use only positive exponents and no radicals.  
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6.    Rationalize the denominator and simplify:   
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7.    Solve the equations.  


(a)   5a – 2 = 3a + 7 



(b)  |x + 5| = 13
                     a = 9/2                                                      x = 8  or  x = -18
8.  Solve the equations.
       (a)  4y2 + 3y – 2 = 0                     (b)   (x-1)(2x-1)(x+7) = 0    [Hint: Don’t multiply it out.]
             .   
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                             x = 1  or  x = ½   or  x = -7
(over)
The following problems are harder or trickier.  You should complete the rest of the exam before spending much time on them.

*9.  Suppose s and t are positive numbers and ts2 + 6s4 = t2.  Solve for s.
     [ This can be factored]               
[image: image12.wmf]3

t

s

=


 *10.  Find the error in the following “proof” which seems to show that 1 = 0.

               Statement                Reason

                   x = 1                   Given

                  x2 = x                   Multiplied by x

               x2-x = 0                  Subtracted x from both sides
            x(x-1) = 0                  Factored
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             Divided  by x-1       

                  x = 0                     Simplified both sides
                  1 = 0                     x = 1 was given and we showed x = 0  
                Since x=1, x-1=0 so you cannot divide by x-1. We cannot divide by 0.






_1158638019.unknown

_1158638155.unknown

_1158638336.unknown

_1158638505.unknown

_1188907780.unknown

_1158638241.unknown

_1158638140.unknown

_1157976355.unknown

_1158637934.unknown

_1157801830.unknown

_1157805072.unknown

_1157809735.unknown

_1157801332.unknown

